Show
your
method

A shop has an offer.

Buy one box for £1.90

Get the second box half price.

Ali buys two boxes of cereal.

How much must he pay altogether?

Each shape stands for a number.
The total of the shapes on the diagonal line is 48

The total of all the shapes is 200

Calculate the value of each shape.

2 marks

1 mark




a Some children vote for their favourite ice-cream flavour.

Ice-cream Number of
flavour children
vanilla 87
chocolate 154
strawberry ?
mint 38
Total 402

How many children vote for strawberry?
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children

2 marks




